A

Sec. 1

L I m/sAF

2. @ [fIT
®) [
() =.[=]]s

30 @ [pIfee [l il
®) =l = T

3. (a) 0.4 m/s?

(b) 1.2m/s
4. 20m/s [pi R A F R 537
5. 0.75L

Sec. 4

L. (a) 1.25w [fi ‘F[f‘ﬁ’ﬁ“ Je 53°
(b) 0.75w ~fT [fl F
(©) 2w = [

2. 45°

3. 50cm

4. (a) T2kgw
(b) 48kgw

e
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&N

1

(a)20N

(b)SN

(c)36N

(@) 2.5 m/s?
(b)37.5N

(c)114N

(d)6 m/s2 ~ 2 m/s2
150N

10. 12m/s2
11. 4 [

Sec. 5

1.
2.
3.

50\/5 Nm

C
(2)0.0015Nm
(b)0.025N

Sec.6

1.
2.

0.3

(@ 2
0 155 N
(a) 10N
(b) 2.8

4. 40N

(2)40/3 kgw
(b)7/3

Sec. 7

L.
2.

3.

0.05Sm , 0.015m
047s

a, =70m/s* i > a; =0m/s? 0 a. =0m/s?

(a) 14cm
(b) 15cm
0.17ms

B EPE
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Sec. 8
L fi7F

5 :
2.(@ 300N , T, =100N , T,=250N , a= 3 m/s? fﬂjf[
® a=15mi fifi . T, =130N , T, =295N
(© my P SONTJRITr my t SONJIS myy  SON [ T; = ONGLI=TY) T, =50N

@ my  ONCEEE) my  ISON I my @ SON [ T, =200N T, = 350N
3.a) 600N , a=28mhk? [
4.(2) a. =1m/s? fFIJT:[ , ay, =1m/s [FIJJF[

0 a. =52ms it L oap =5Sms T, 1F)

(©) a. =6.2m/s? [Fil T

1

Sec.9
1. 120N - 60kg
2. 1IN

Sec. 10

1. 726N

2. (a)0.lrad/s
(b)ONm
Ol

Sec.11
1. 36km/h

B EPE
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Sec. 12

L.

N

L 0 =N oW kW

(a) 8m/s

(b) 8s
(©)64m

3 73
Tomy l%mv ,
24m/s

36000N

9/320m > 5/16m
0.2m/s > 5cm2
1500Ns

2.1Ns

28

Sec. 13

1.

38.4kgw

2. 2m/s

3. 4m/s?

4,

5. (a)bmg ~ 3mg

Orad/s

(b)10mg ~ 3mg
(c)8mg ~ 3mg
(d)2mg

v2
0.96—
g

B EPE
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